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I Continuation of 10 and exceptions to the general rules of the chapter
a  Continuation of exclusions in sale of field

i

Cistern, winepress, dovecote (active or “dead”),
1 Dispute p’non/y”1about the easement:
(a) »” seller must buy back an easement to access these places — 721 R 19 Pya 10mn
(b) D2pom easement is withheld — 712m R0 NP7 Pya omn
2 inverse of dispute in case these excluded areas alone are sold
(a) »71:buyer need not purchase easement separately (included in sale)
(b) prpom buyer needs to purchase an easement separately (not included in sale)

b  Exceptions:

1

ii
iii
iv

Gifts — giver gives all of these (roof, cistern, bathhouse etc.)
1  Explanation: in the case of a sale, he was expected to explicate all of the items included; we don’t have
this expectation of a gift
(a) Story:aman gifted a house “that holds 100 barrels; it was larger (120)
(b) &7V 70 suggested that the gift is limited to 5/6 of the house
(c) wx "7 since it is a gift, it is given no Py and the entire house is given
Division of estate — once each brother takes possession of his field, he takes full possession
Taking possession of 731 7021 — once he takes possession, he takes full possession
If he is wrpN:
1  omon: he is w1pn all of the field
2 v™": he is only wr1pn the mature trees (grafted carob, sycamore “stump”)
Associated ruling - xnn "
1  If someone sells land but withholds two trees — he also holds onto land around them
(a) Ewven: according to "1 — whose ruling is limited to cisterns that don’t affect (or need) the land
(b) Proof: had he not withheld them, the new owner could tell him to uproot his trees and take them away
2 Challenge: v™'s stated reason for his position in n1wn — mature trees nurture from the land of v1pn
(a) Explanation: if you hold that the owner retains land, they nurture from their own “retained” land
(b) Resolution: X110 "1's ruling follows 1321 (721 ny7 PY); v follows »™
(i) Note: we are backing away from earlier position that n”1’s ruling would even be accepted by »™
(c) And: that n"’s position follows 1121 is fairly obvious
(i) Answer: 0™ is teaching that if the tree withers or falls, he may replant in that spot
1. Explanation: without n"v’s ruling, X710 that he only retains land as long as the original tree
is in existence
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